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GENERAL STUDIES-I

g WU YRS WRAI $ell T 3fed & 91 & ffd #gayel Sl 4 9 geh &1 gt dxar @ | fagem
BT | (150 Tr&T # IR )

The rock-cut architecture represents one of the most important sources of our knowledge of early Indian art and history.

Discuss. (Answer in 150 words) 10
IRA H dlg o9 & 38 # uTd &I A Jg@yol =R07 & | faweiyor S | (150 Tr&T # SR EIRT)
Pala period is the most significant phase in the history of Buddhism in India. Enumerate. (Answer in 150 words) 10
QIS Poid Bl Rl Ta IS JMRTAT R D G GHTdT BT HedTdhd DIfoTY | (150 ¥l H SR <IRTY)
Evaluate the policies of Lord Curzon and their long term implications on the national movement. (Answer in 150 words) 10
IR-TRI & & J-Hifdara ifideet &1 fJaem sy | (150 vl # SR AIRIY)
Discuss the geophysical characteristics of Circum-Pacific Zone. (Answer in 150 words) 10

AORASHTDBRY B YshH Bl STerardfdd AU 81 il 8 | Sarexvll afkd &iifac fig &Ik (150 oreal # SR EIR)

The process of desertification does not have climatic boundaries. Justify with examples. (Answer in 150 words) 10

feATerd & fedal @ fges &1 9Rd & Sd-9ae R {59 R S g91d 8RT° (150 ]l # IR QIRIY)

How will the melting of Himalayan glaciers have a far-reaching impact on the water resources of India? (Answer in 150 words)
10

A ¥ WlIE U9 S Qe & ded Ald & SAd 9 g8 RAfd &1 IS0l 9fzd SR sy | (150 &1 H SR
Afr)

Account for the present location of iron and steel industries away from the source of raw material, by giving examples.
(Answer in 150 words) 10

TE-IRGIH ARG TS DI G H F1 S B YIRS T 81 g 87 IR0 dfed fawga SR AR |
(150 wral # SR EIRTW)

Has caste lost its relevance in understanding the multi-cultural Indian Society? Elaborate your answer with illustrations.

(Answer in 150 words) 10
Pifds—19 FEMRY ¥ YRd H 7 SRIAMAISH Td TR B f ¢ &) 7 | fewoh Hifre | (150 Tt # SR )
COVID-19 pandemic accelerated class inequalities and poverty in India. Comment. (Answer in 150 words) 10

FIT 37T FEAT © b 9RT H &I decll 8 ARGIID JE@RAT b1 YRV Uil 8kl 87 T DI | (150 wreal #
SEAEUNN

Do you agree that regionalism in India appears to be a consequence of rising cultural assertiveness? Argue. (Answer in 150
words) 10
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YR &R T IRERT 9 9RO RG] D ST 3R ATBR & Ud IT9db] Hell 4 Fgayul YAd F9rg & | faaaq
BHIRY | (250 TreRT H SR IRI)
Indian philosophy and tradition played a significant role in conceiving and shaping the monuments and their art in India.

Discuss. (Answer in 250 words) 15

AIHTAE MR & BRI A1fefad SHd 99 &ld & gag &1 ufafdg 2| feuelt @ifsie | (250 wreail § 3R €ifm)

Persian literary sources of medieval India reflect the spirit of the age. Comment. (Answer in 250 words) 15

1920 & TUD I A I o Ps JdRD URIRA I T80T fhar 3R =1 FHEINTG MR I/ | fada1 P |
(250 wrat # SR EIfY)
Since the decade of the 1920s, the national movement acquired various ideological strands and thereby expanded its social

base. Discuss. (Answer in 250 words) 15

Al B U H TS g, 918 AR AT STA-YRTST Okl Ig—3MAM] TR Hd FARIIA BT AR FHET §
bl & | SMTATI-THD GRIETOT BT | (250 &l # STR EIfvT0)

The interlinking of rivers can provide viable solutions to the multi-dimensional inter-related problems of droughts, floods and

interrupted navigation. Critically examine. (Answer in 250 words) 15

HRA H ey TRI f0 gev1EE vd gul ol e RiEieT ) Affaferd 8, § <1ad d1¢ & HRT 9a1sQ | Rl FR1aR01
& S A1 gy | (250 &l # SR €IfvTY)
Account for the huge flooding of million cities in India including the smart ones like Hyderabad and Pune. Suggest lasting

remedial measures. (Answer in 250 words) 15

IRA H WR Fol &) YgR GGG 8 ETelifs sae faw #§ e e €| fawga aofa @ifg | (250 vl |7 SR
<feT)

India has immense potential of solar energy though there are regional variations in its development. Elaborate. (Answer in
250 words) 15

IRA & 99 Gl 3 Reafd vd Sefarg aRad= o SHa gRom gwral &1 aieo Hifsig | (250 ol # IR 2IRm)

Examine the status of forest resources of India and its resultant impact on climate change. (Answer in 250 words) 15
T IRA | fAfdydT va Igaare dwdiaRe & BRI GHe H 57 NIIYul SR SR | (250 TRl H SR AIRI)
Is diversity and pluralism in India under threat due to globalisation? Justify your answer. (Answer in 250 words) 15

RI-RaTsli gd UR=R1S RT T DI Ga H WIIERIY Iq~ B3 & | a1 AT $H HSHd 87 (250 W&l H SR
1Y)

Customs and traditions suppress reason leading to obscurantism. Do you agree? (Answer in 250 words) 15

Rd H fSioled ugd o1 6 YR 4 <21 &1 e awen & Harad § ArTe fhar g7 f[awga SR €| (250 el
4 v @ifer)
How have digital initiatives in India contributed to the functioning of the education system in the country? Elaborate your

answer. (Answer in 250 words) 15



